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MM = ME < <X +ME

Where x is the scmpfe mean and pis the population M
the range Is the confidence intervol
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Example 1: A grocery store manager wanied fo determine th
He timed customers chosen at random.

e wait times for customers in the express lines.

a) What is the mean and standard deviation of the sample? Round to the
nearest tenth of a minute.

"

o a ~ - A ' o U |
- - -e ' “n -
X . » :’ 7 £ ) :( —— A 3 s

b) Ata 95% confidence level, what is the approximate margin of error?
Round to the nearest tenth of a minute.

| ME= 19 (‘%5,\ %0 ) = 0.5

¢) What is the confidence interval for a 95% confidence level? L. e |
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d) What is the meaning of the interval in terms of wait times for customers?
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ﬁ ample 2: What is the sample proportion for each situation? T\
Write the rafios as percents rounded to the nearest tenth of a |

percen'r
aj oupuliui 1085 voters selected randomly, 564 faver
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b) A coinis fossed 40 times, and it comes up he
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b) In asimple random sample of 500 people 342 reported using social networking. o
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For Exercises 1-2, find the 95% confidence interval for the population mean or population proportion, and Interprd!ﬁi
confidence interval in contexf. I

1. A consumer research group tested the baitery life of 36 randomly chosen Bg;t;?u:‘f}"
batieries to establish the likely batiery life for the population of the same type |
_ of battery. _ 846 |
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2. In a poll of 720 likely voters, 358 indicate they plan to vote for Candidate A.



